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1) X ve y birer tam sayidir.

x and y are integers.

2n+5

X =
n+4
_ n+4
Y 2n+5

olduguna gore, n’nin alabilecegi farkh tam
say1 degerleri toplam kactir?

Since n is different integers that n can take
What is the sum of the number values?
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1 1 1 1
3) + + +ot
10.11 11.12 12.13 99.100

Isleminin sonucu kagtir?
What is the result of your action?
3 7
A)— B) —
) 10 ) 10

B 1L
100

C)L

D) >
100

100

4)

a,b,c ve d birer pozitif tam sayidir.

a, b, c and d are positive integers.

A)-16 B) -15 C)-13 D) -11 E)-4 1 67
a+ — 1 ~5
b+—~+ 29
1
c+—
d
oldulguna gore, a-b+c-d ifadesinin degerleri
2) kactir?
If so, what is the value of the expression a-b+c-d?
a’.c’ <0
a’bh<0
@ - <0 A)l B)2 ©)3 D)4 E)5
olduguna gore, a, b ve ¢ nin isaretleri
sirasiyla asagidakilerden hangisidir?
Since, the signs of a, b and c are respectively 5) 4+ X -6
Which of the following? 4 *
X
4+ P
4—-
A)+9+9_ B)_7+a_ C)_’_’_ :
D) -, +,+ E)+,+,+ oldguna gore, x kactir?
Since it is, what is x?
A)2 B)3 C)4 D)5 E)6
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6) _Z< a—3x
2 2

<4

esitsizliginin ¢oziim kiimesi [-1, 4) olduguna
gore,a kactir?

Since the solution set of the inequality is [-1, 4),
what is a?

A6 B)S O4 D)3 E)2

a+b=3\/§
7) b+c=4J2
c+a:2x/g

olduguna gore, a, b ve ¢ nin dogru siralanisi
asagida-kilerden hangisidir?

Which of the following is the correct order of a, b
and c?

A)a<b<c B)a<c<b C)b<a<c

D)b<c<a  E)c<b<a

8) |x-3-2+2-|x-3|=6
olduguna gore, x in alabilecegi farkh degerler

toplam kactir?

what is the total of different values that x can
take?

A)3 B4 ©S5 D)6 E)8

9) (lx-3-5""" =1

esitligini saglayan kac farkh x degeri vardir?

How many different x values are there that
satisfy the equation?

A)?2 B)3 O4 D)5 E6

=124

10" +1-5"-2°

10) >

olduguna gore, x kactir?
Since , what is x?

A)3 B)2 O1 D) -2 E)-3

37

B 80l
olduguna gore, B kactir?
Since , what is B?

11)

3 5
A)l B)E 02 D)E E)3

/80 -4
2) i

Isleminin sonucu kactir?
What is the result of your action?

A)JT+3 B 27 o) 243
D) \7 E) V73




13) x>4 olmak iizerec,
x>4 to be,

Jxtd+adx +xr4—4adx =6

olduguna gore, x kactir?
Since , what is x?

A)8 B)9 C) 16 D) 25 E) 36

A=140.1
14) 0.160
B=146.154

olduguna gore, A nin B cinsinden esiti
asagidakiler-den hangisidir?

which of the following is the equivalent of
A in terms of B?

A) B+1 B)B C) B-84
D) B+20 E) B-40

15) xy _4
x+y 3

>z _6

y+z 5

X+z l

X.Z 12

olduguna gore, z kactir?
Since , what is 7?

A)2 B)3 4 D)5 E)6
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16) A={x:x<200,x=12nneZ"}
B= {x:x< 300, x =8k, k eZ*}
olduguna gore, AUB kiimesinin eleman
sayis1 kagtir?

what is the number of elements in the
AUB set?

A) 54 B) 50 C) 46 D) 45 E)43

17) A ve B, E evrensel kiimesinin alt
kiimeleridir.

A and B are subsets of the universal set E.
2.s(A)-3.5(B')=24
s(B)-s(A)=36
s(A')+4.S(B') =18
olduguna gore, s(E) kacgtir?
Since , what is s(E)?

A) 27 B) 31 C) 35 D) 37 E) 39

2x-3, x>3

18) f(X): 3x—6 x<3

olduguna gore,f(4)+f1(-18) toplamu kactir?
Since, f{4)+f"(-18) What is the total?

A)-12  B)-5 G -8 D)0  E)l
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19) (23)s
(A)s
A)122 B) 111 C) 104 D) 44 E) 42
20) (23)4
X (2)4 E= 9
(E)s
A)100 B)110 O) 112 D) 123 E) 130
21) x>4
(A)X =2x" +3x° + 2 +4x +24°
=A=?
A) 23142 B) 12132 C) 2342
D) 2314 E) 231

ZZ) x=2
A X
X-2
A) 12y B) 4y+2
D) 4y-3 E) Oy+4
23)
(zjbc ‘[ﬁsz+x—2 _[zjl’v
7) "\ 4 7
X +x, =7
1 1
A) _E B) -1 O) >

24) \3/ XAl =81
x=1?

A)3 B)9

C) 18

D)1

D) 27

C) 12y+6

E) =

E) 81
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25) 2a+3b—c=12
3a+2b+2c=14
28

a>0 ) a+b-3c=2
a+l=2\/§ a+b+c="

a

1 0 A)2 B)3 04 D)5 E)6
a——=

a

A)2 B)4 C)6 D)8 E) 10

A:{x|er,1£x£25|}

25) 20xq=15y=12z,2x—3y+z=—2 29) B={y‘yeZ,1£y2S25‘}
x="7
n(A—B)z?
A)3 B)4 06 D)8 E) 10
A) 19 B) 20 0)21 D) 23 E)25
o D’
N
100 100, e
45
100
A =7
x+1 x—1
o X)=——,8(x)=—
. L R
(fog) " (x)="
A) 50 B)66 C)72 D)80 E) 96 g :
A) 6x-1 B) 6x+1 C) 6x+2
D) 6x+4 E) 3x-12
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31)

AC|| DE,[BL| [FE],m(KBL) - m(LBc)

m(ABF) = m(FED),m(FBK) =120°

Yukaridaki verilere gore, m (ABF ) kacg

derecedir?

According to the data above, how many degrees is

m(ABF) ?
A) 10 B) 15 C) 20 D) 25 E) 30
32) ABCli¢gen
ABC,triangle
|AD|=|DE]|
|DB|=|BC|=|CE|
m(ACB) - 60°

Yukaridaki verilere gore, m(ABC ) kac¢

derecedir?

According to the above data, how many degrees is

m(ABC)?

A) 70 B) 75 C) 80 D) 85 E) 90

33) A B

ABCii¢gen
ABC, triangle
D [AE] L[AB]

C 2m(ABc) :m(AED)
|cD| = |BD|

12 |CE| =Tcm
|DE| =12cm

Yukaridaki verilere gore, |ACI| ka¢ cm dir?

According to the data above, how many cm is
|AC/?

A)3 B)3.5 04 D) 1.5 E)S5

34) A

[4B] L[BC],m(ACB)=m(ADE),|EB| = |EC],|BC| = 12¢m

Yukaridaki verilere gore, |AD|=x ka¢ cm dir?

According to the data above, how many cm is
|AD|=x?

A6  B)I2 C)15 D)18 E)24
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37) O noktas: sekildeki gemberin merkezidir.

35) Point O is the center of the circle in the figure.
[AB] L[EF],
[DC] L[EF], R
|AB| =24cm, 24 X
|BO|:7cm, E B7 g 15 C F
|OC| =15cm
= |DC| =x=7cm
A) 12 B) 14 C) 16 D) 18 E) 20
ABC iiggen, triangle,[ DE| L [ BC],|BE| =|EC|,|AD|=5cm
|AC|="Tcm,|DB|=8cm

Yukanidaki verilere gore, Alan(DBE) kac dir?
According to the above data, what is Area(DBE)?

B
A)6J3 B) 73 C)8/3 D)93 E)10\3 38)
36)
T M
(4B.0,) )
(CD,0,) ABCD bir paralelkenardir. /ABCD is a
| 0, 02| —dem parallelogram.

[AB] uzunlugu 5 es parcaya, [CD]| uzunlugu 4 es
A(AB,0,)=100zcm’ parcaya boliinmiistiir.

= TA(SA) =2cm’ The length [AB] is divided into 5 equal parts, the
length [CD] is divided into 4 equal parts.

A)3x
Taral alan(the shaded.area)..
B)6r = =1
C)or A(ABCD)
D)12x
1 3 5 ¥ 9

E157x A) — B) — C)r—= )" = E) —

) ) 20 ) 20 ) 20 ) 20 ) 20
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39) 40)
A B
D 72°
—9p, F ’ C
B
X
r=4cm E D
r,=2cm x=9
[4B|=8om |AB|=[BC] = || = [DE| - || -
|CD| = xcm |FE| =|EK|
x=7 m(ADF) =72
A7 B)6  O)5 D)4 E)3 m(KDC) —x
A)56  B)54 C) 52 D)50  E)48
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a1) e I G
TieAsxAs (x & 16) = (3 B y) =23
HEYVA »» ?
dx+y =7
A) +1# +A B) @\ A# C) \H+ A)36 B)28 ()42 D)40 E)52
D) —@«#? E) @«—#7+
42) P A T E N
M E R A L
U K A M E|= UKAME=?
T U L K U
U L M U K A)B B)L O)T
D) X E)D
A)06903 B)92186 C)48527
D)03892 E)50630
43) M A N | 9 2 4 6 46)
T U F O 5 8 2 0
X A Z U |= 8 1 3 5
F 1 N M 3 6 4 9
O T A Z 7 2 0 1
FINM + MANI =2
A) ALMA B) USTA C) ZURNA
D)UATMO E)AOMZO X=2? Y=2
AN; K B)K; M ON; M
D)M; K E)K: N
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2R

$)
%) 14
Jas] wm o <t
[
o] ™M
® X
cn
%] (%]
<+ ©0
< a
—
0
<

62X 1=11

SBK4K4=2

A) 78

Q) 62 D)48  E)S54

B) 85

3n3=45

205=331

51)

® 826 =4

49)

401=56

602="2
A)813 B)169 C)138 D)244 E)422

®734 =27

®210=1

® 444 =2

B)0 ()4 D)8 E)64

A1
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T N
@ SN C TS
S B D

TN

53) 2 4 7 11 16 22 2

A) 30 B) 26 C) 29 D) 31 E) 28

54)18 21 7 4 12 15 5 2 2

A) 6 B)9 C) 12 D)7 E)5
D NI
"D‘WV’"
o o 2
55)1 22 2 21 4 19 7 16 11 12 16 ? ? e FP%Y I"e°
[ ] [ ] ®)
A) 13,17 B) 8,22 C) 7,23 A) B) C)
D)7, 22 E)9, 23
O o
\/

(o} @) O cexO0e
®

Yleo
Hle
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AVAVAVANE

K*M=?

A)20 B)35 ()12 D)I8 E)30

MNT O BNT 9 AN

24 35 52 58 47 41 — 1 -/ -/
>9) (36) ©
>Z » N1 P
—e —8 —./
5 8 6 2 15 9

A)64  B)76 C) 80 D) 72 E) 68

62)

32 36 18 24 28 14 20 24 12 18 7 ??

A) 36, 18, 22 B) 24,12, 16 C) 22,11, 16
D) 22,11, 17 E) 22, 10, 14

60)
?7 |34
44 63) X c d + | ¢ | d
a 20 a 8
64 | 54 i ¢ i
a-b+c-d="?
A)66 B)74 (C)83 D)64 E)S55 A)22  B)7 (14 D)24 E)I12
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64)

1 8 9 2

4 6 4 3

2 3 2 5

9 4 7 2

1 A 3 4
A=?

A)8 B)7 C)9 D)4 E)S5

65) 37 | 47 | 58 | 71

16 23 28 38

33 39 51 57

42 | 48 | 60 9
A)14 B)56 C)42 D)55 E)66
66) ® 2 5 | 9
3 11
5 K | 30 | 34
13| 17 L
K+L=2
A)105 B)205 C)412 D)32 E)I10

67) K L M
M K L K L
+L M K +L + 1 M=?
1 5 5 4 M K
A)7 B)5 (4 D)6 E)2
68) A B e
+CA B
B
BC = Ap-
132 1l

A)2 B4 (1 D)5 E)3

69) ABC ABC
TKLM “KLM
5709 32 7
A+B+C=2?

A)10 B)11 C)12 D)4

E) 15



71)

B) 0@
E) @1%

A) BMM
D) BBBB

Basasy

B) MME
E) BBBM
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72)
+H ?
= R,
C)e0® | i
A)»BEA B) &Y% C) wox
D) ¢4 E) HE<
73)




74)

A)

©)

E)

75)

TR- YOS 2024 (3)

76) B
+ ? = ﬂ
f Y 4K
B)
L L/
e
D) J
}j =~ p:
9 K> >
D) E)
b ﬁ
77) X, y, 2'yi sirayla tanimlayin
Set x, y, z as consecutive
/‘A D‘\
B C/
-+~ [a>] -+~ Z | | [ ] AlO ¥
oW={ol=|ol=|»
A|¥x A O
Z="1
A O B+ OO D EU o
1.
|
A~
. A
5. %
7. @
A)1,2,7 B)5,2 4 07,13
D)4,3,2 E)2,4,5




78) Verilen kiipiin aciligi asagidakilerden
hangisidir?

Which of the following is the opening of the given
cup?

A)

B)

o)

D)

E)

TR- YOS 2024 (3)

79)

80)

T C
a c b
b C d a
X(mle|le|e[—]| Y.
Z
F;Z;S=7
A)D#X B) X # @ CO)XVD
D)PSOE E) #DX
8 7 4 5
10 9 8 9
11 9 9 11
5 10 5 ?
A)l B)2 C)0 D)3 E)4
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